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



1 2 3 4 5 6 7
1 1 0 1 0 1 1 1
2 0 1 0 0 0 0 0
3 1 0 1 0 1 1 1
4 0 0 0 1 0 0 0
5 1 0 1 0 1 1 1
6 1 0 1 0 1 1 1
7 1 0 1 0 1 1 1









1 2 3 4 5 6 7
1 1 0 1 0 1 1 1
2 0 1 0 0 0 0 0
3 1 0 1 0 1 1 1
4 0 0 0 1 0 0 0
5 1 0 1 0 1 1 1
6 1 0 1 0 1 1 1
7 1 0 1 0 1 1 1





Connectivity  in  Semialgebraic  Sets
Hoon  Hong,  James  Rohal,  Mohab  Safey  el  Din,  Éric  Schost

Problem
Input
	
	
 f ∈ Q[x1, . . . , xn]

	
	
 p1, p2 ∈ Qn

Output
	
	
True,  if  p1, p2  are  in  a  same  connected
  	
	
	
	
     component  of  {x ∈ Rn | f (x) �= 0}
      False,  otherwise

Example
f (x1, x2) = x3

1 − x2
1 + x2

2

True                                                                  False

Algorithm
Step  1  -­‐‑  Form  Routing  Function

	
	
Perturb  (c1, c2)  until

	
	
	
g(x1, x2) =    
f (x1,x2)

2

((x1−c1)2+(x2−c2)2)γ    satisfies

•  C :=
�

x ∈ R2 | g�(x) = 0 ∧ g(x) �= 0
�
  is  finite

•  ∀x ∈ C, det g� �(x) �= 0

	
	
	
where  γ  =  deg(  f  )  +  1

	
	
Initially  (c1, c2)  =  (0,  0)

Step  2  -­‐‑  Find  Routing  Points  and  Positive  Eigenvectors

                                                      C  =  set  of  routing  points

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
∀x ∈ C,  find  eigenvectors  

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
of  g’’(x)  (arrows)

                                                               Positive  eigenvector  v  

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
(outgoing  arrow)  ⇐⇒  

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
λ > 0  where  g� �(x)v = λv

Step  3  -­‐‑  Steepest  Ascent  Using  Positive  Eigenvectors

                                                               Move  a  small  distance

                                                               from            in  the  direction  of  

                                                               the  positive  eigenvector  then  

                                                               perform  steepest  ascent

Step  4  -­‐‑  Form  Adjacency  Matrix

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
Entry  i,  j  is  1  ⇐⇒  �    i                      j            

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	






1 2 3 4 5 6 7
1 0 0 1 0 0 0 0
2 0 0 0 0 0 0 0
3 1 0 0 0 0 1 0
4 0 0 0 0 0 0 0
5 0 0 0 0 0 0 1
6 0 0 1 0 0 0 1
7 0 0 0 0 1 1 0





Step  5  -­‐‑  Form  Connectivity  Matrix

                                                                  Reflexive  symmetric

                                                                  transitive  closure  of

                                                                  adjacency  matrix

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
        	
    





1 2 3 4 5 6 7
1 1 0 1 0 1 1 1
2 0 1 0 0 0 0 0
3 1 0 1 0 1 1 1
4 0 0 0 1 0 0 0
5 1 0 1 0 1 1 1
6 1 0 1 0 1 1 1
7 1 0 1 0 1 1 1





Step  6  -­‐‑  Steepest  Ascent  from  p1, p2    and  Connectivity  Check

	
	
Perform  steepest  ascent  from    p1     and    p2     to  find  peaks                                    

	
	
      i        and        j        then    check    entry  i,  j  of  connectivity  matrix

     

    

                                                                        

                

                                                                                                                                  True              

    

                                                                                                                                  False              


